188 Written Answers

wATYr auy weg I A A w1 wrAw

1710. «iY fjo wo dfera : a1 @y
aqr gla 757 3g a3 ® F97 4

(%) FaragFT ARG & FST F
gr-wfag3T & g9 3599 ¥ ggAa & o
TN 1 wEd, 1970 F1 ous wET &
gaT ¥ taaw (wew wxw) ¥ frar @
fs xw v ®ArTr W@ w1 4 O
THT 7Y Nqg & A IR F ww F
g § deww @ W wfgs A w
wraTaEaT ag) § ; WX

(w) afe gi, @ waa &1 foq Bl
& war ey s & A s §) g &2

wry, §fe, arguifow fawm aur wg-
wIC ey # T s (s v e
farek) : (F) ®ATE TIFR ¥ G FUL
§ 3a% aw ¥ A @dEd ¥ fag @
faclta a¢ ¥ wreg &1 4 AT AT FY
ggoar A FTawa fear | gmaraa
st as £1f MgTifeF suT asea adt
gor &1 awify, a7 @ Xw @wrE §
gurEd ¥ greafafar ara agl s
war §, av aw Al § gE W
AT waeaF § o AfET @y gy ¥
gfg & wrara # DX O FH A A @
& 1 AYEr WAl & wagErT 197071 &
wrx fearad) warg ¥9€ & fg sry w
qaT )

(w) femgre dgea sy gafoer &
e UTo 480 ¥ WFATA ATWT 28 WM
Mz z7 A agr 3@ ¥ ¥ | Aw
#edt = Af wrfgfeas wrare 9T qmma
vAEvawfegam g &1 wwr g fe
Wi IO wo-ggEan & w9 § faqr qar
®TRT 35,000 Wizt 2 AF 1970 ¥ afw
wiaT | 1969 # g7 s AT gra
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geraar &9 ¥ fxe 1w 64,000 e zw
A § & amwn 46 8 gATT M 2w A
1 &9 T1Ar 1970 F 97’ Mg | wreg-
fear & anwm 50 garx w@ed =@ AR
aifafeas sraT gz wana fear o @y
¢ aar 3dY ¥w & WA 68 gy WA
27 A (wredfaar g Ivgic v ¥ fag
T 70,000 Hed = w7 dw) wax,
1970 & st g war § 1 @i § s 1970
¥ ger: wdATEr & A go ¥e g
wgraar €9 § faar war 28.8 W@ ¥AT
W arna w1 43 (99w §g 9 GAIA—
qraT B GeFT) Wi fear wrLar
1970 % ¥ w1 u)x wrave whesy # fipg
MA Fd gaw9Y 9T Fad T

W & 36t ¥ i ¥ w4y

1711, o simiare &y : #ar wra
aqn wfw 797 ag awy N war w7

(%) ¥ 78 99 § f na A7 7HFH
Faw ¥ am & 37 & 7 ¥ qafey
Hagly;

(&) ¥a1 ag Wt a9 § fr ¥ & wie
AT 9T QA FT AT G GEAT F 99-
waq AgY far fagd sfcqaaer g
waar &1 a§r sfe€ w1 grvAT *ROAT
qygar §; WX

(m) ¥ & qofr A F afae e
qT W T I JUAE FUX & gy F
FORIT I %41 I g ardr w1 frwie
L &

ww, ¢, arguire feem oo wg-
wTT swrerw # v et (S oo ey
fard) : (%) ofr gt 1wt ster AT @
g ¥ efg gt &

(w)- qewTc oy @ dew At





